02. Assembly of the y-Axis Guide ID: 95 - Draft: 2022-12-06

caribou3d

02. Assembly of the y-Axis

This document was generated on 2022-12-19 01:27:29 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 1 of 6



02. Assembly of the y-Axis

Step 1 — 02. Assembly of the y-Axis

(4)

Step 2 — Assembling the Parts

This document was generated on 2022-12-19 01:27:29 AM (MST).
© 2022 caribou3d.dozuki.com/

Guide ID: 95 - Draft: 2022-12-06

(1) 1.5mmx60mm Hexagonal Micro
Screwdriver for Electronic

Applications

(2) 2.5x75mm Hexagonal
Screwdriver

(3) 5.0x100mm Hexagon Ballend
Screwdriver

(4) Engineer Scriber

(1) Stepper Motor
(2) GT3 Toothed Pulley

(3) 4x y-Rodholder Bottom
(4) y-Motorholder

(5) y-Belt Tensioner

Page 2 of 6


https://caribou3d.com/en/tools/119-wera-2054-screwdriver-for-hexagon-socket-screws-for-electronic-applications-15mm-x-60mm.html
https://caribou3d.com/en/tools/118-9836-wera-354-screwdriver-for-hexagon-socket-screws.html#/148-wera_354-25_x_75mm
https://caribou3d.com/en/tools/117-25-wera-352-ball-end-screwdriver-for-hexagon-socket-screws.html#/49-wera_352-50_x_100mm
https://caribou3d.com/en/tools/131-engineers-scriber.html
https://caribou3d.com/en/stepper-motors/45-linear-stepper-motor-ldo-42sth40-1004a.html
https://caribou3d.com/en/pulleys-belts/109-misumi-gt3-toothed-pulley-for-powergrip-gt3.html

02. Assembly of the y-Axis Guide ID: 95 - Draft: 2022-12-06

Step 3 — Assembling the Screws

e (1) 4x Black M3 Washers

o (2) 8x M3 Self-Securing Nuts

1 0000 e (3) 4x M3x10mm Hexagon Socket
2 00000000 Head Cap Screws
(3) l 11 1 o (4) 12x M6x12mm Hexagon Socket

Head Cap Screws

- 448880440441

Step 4 — Preparing the y-Rodholders

e Using an Engineer Scriber, insert 2x M3 Self-Securing Nuts into each of the y-bar holders.
e Alternatively, you can tighten the M3 Self-Securing Nuts with an M3 Screw from the other side.

This document was generated on 2022-12-19 01:27:29 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 3 of 6


https://caribou3d.com/en/screws-nuts/805-m3-washer-50x.html
https://caribou3d.com/en/screws-nuts/804-m3-self-securing-nut-50x.html
https://caribou3d.com/en/screws-nuts/227-9675-m3-hexagon-socket-head-cap-screws-black-10x.html#/197-screwlength-10mm
https://caribou3d.com/de/schrauben-muttern/701-9702-m6-zylinderkopfschrauben-mit-innensechskant-schwarz-10x.html#/198-schraubenlange-12mm

02. Assembly of the y-Axis Guide ID: 95 - Draft: 2022-12-06

Step 5 — Installing the y-Rodholders

o Align the T-Nuts and the frame as shown in figure 1.

e Now, place the four y-rodholders on the frame (see figure 3), assigning each hole to a T-Nut.

For the x-axes, make sure that there are 2x T-Nuts between the two y-rodholders.

@ The y-rodholders are now screwed on using 8x M6x12mm Hexagon Socket Head Cap Screws.

& These screws are initially only loosely tightened, as the y-rodholders need to remain movable.

Step 6 — Assembling the y-Motorholder

o Place the y-motorholder on to the stepper motor.
A Make sure the cables are leading to the holes for the M6 screws.

@ Then, attach the motor to the y-motorholder. Use the 4x M3 Washers and the 4x M3x10mm
Hexagon Socket Head Cap Screws to fasten it.

This document was generated on 2022-12-19 01:27:29 AM (MST).

© 2022 caribou3d.dozuki.com/ Page 4 of 6



02. Assembly of the y-Axis Guide ID: 95 - Draft: 2022-12-06

Step 7 — Installing the GT3 Pulley

e Slide the GT3 pulley onto the motor shaft of the stepper motor.

e The GT3 pulley has two grub screws. Ensure that one of these screws is aligned with the flat
surface of the shaft. Then, tighten both grub screws.

& To avoid friction, leave a small gap between the pulley and the motor surface.

Step 8 — Installing the y-Motorholder

e Attach the assembled y-
motorholders to the 2x T-Nuts
between the two y-rodholders in the
rear x-axis. Use 2x M6x12mm
Hexagon Socket Head Cap
Screws for this.

This document was generated on 2022-12-19 01:27:29 AM (MST).

© 2022 caribou3d.dozuki.com/ Page 5 of 6



02. Assembly of the y-Axis Guide ID: 95 - Draft: 2022-12-06

Step 9 — Installing the y-Belt Tensioner

e Place the y-belt tensioner on 2x T-
Nuts in the front x-axis and fasten it
loosely with 2x M6x12mm Hexagon
Socket Head Cap Screws.

(i) Both the y-motorholder and the y-
belt tensioner must be easily
movable on the corresponding x-
axes.

Step 10

(@) The setup of the y-axis is now
complete.

@ continue with the manual 03.
Assembly and Installation of the
Heatbed Carriage for MK52-Blocks.

This document was generated on 2022-12-19 01:27:29 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 6 of 6


https://caribou3d.dozuki.com/Guide/03.+Assembly+and+Installation+of+the+Heated+Bed+Carriage+for+MK52+Blocks/127

	02. Assembly of the y-Axis
	Written By: Caribou3d
	Step 1 — 02. Assembly of the y-Axis
	Step 2 — Assembling the Parts
	Step 3 — Assembling the Screws
	Step 4 — Preparing the y-Rodholders
	Step 5 — Installing the y-Rodholders
	Step 6 — Assembling the y-Motorholder
	Step 7 — Installing the GT3 Pulley
	Step 8 — Installing the y-Motorholder
	Step 9 — Installing the y-Belt Tensioner
	Step 10


